EDELBROCK STRUT TOWER BRACE
for 1994-2001 Acura Integra GSR

Catalog #5272
INSTALLATION INSTRUCTIONS

Please study these instructions carefully before installing your new Strut Tower Brace. If you have any questions or
problems, please contact our Technical Hotline at: 1-800-416-8628, 7:00 am to 5:00 pm, Monday through Friday,
Pacific Standard Time or e-mail us at edelbrock@edelbrock.com. Please fill out and mail your warranty card.

Suggested tools needed for installation:

U Combination wrenches
Q Allen wrenches
O Sockets both metric and standard

DISASSEMBLY 2. Install Edelbrock Strut Tower Brace on to the end
1. Remove stock brace (if equipped), keep hardware brackets and align the brace’s firewall bracket with
to brace. the holes in the firewall used for the throttle
2. Unbolt and move throttle bracket away from the bracket.  Using supplied 3/8 nuts, bolts and
firewall. This bracket will be re-used. washers, bolt brace to the end brackets. Do not
tighten bolts at this time. Using the 6 mm bolts and
ASSEMBLY washers supplied, install the throttle bracket and
1. Remove large nuts on top of the strut tower, install brace to the firewall. Align strut tower brace and
Edelbrock Strut Tower Brace end bracket over tighten all hardware at this time.
studs, using original nuts and the bolts from 3. Check for any interference with the wiring, throttle
original strut brace, snug hardware at this time. cable, transmission kickdown cable, and
Brackets are stamped with a part number, left side miscellaneous hoses.  Check for clearance
#25-4054 and right side #25-4055. between strut tower brace and hood before closing
hood completely.
PARTS LIST
Qty. Part # Description Qty. Part # Description
a1l 25-4053 Main Strut Tower Brace Q?z2 60-9183 3/8 - 16 Nyloc Nut
a1l 25-4054 End Bracket (Left) a4 82-5230 3/8 AN washer
a1l 25-4055 End Bracket (Right) Q2 68-0337 6mm bolt
a?2 68-8472 3/8 - 16 x 2-1/2 bolt a?z2 82-2895 1/4 flat washer

Edelbrock Corporation
2700 California Street
Torrance, CA 90503
Toll-Free Tech Line: 1-800-416-8628
Office: 310-781-2222
Tech E-Mail: edelbrock@edelbrock.com

©2002 Edelbrock Corporation

Rev. 2/02



